



Exposants fractionnaires

Nom: _____

Date: _____ Note: _____

$$\left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^4 =$$

$$\left(\frac{1}{5}\right)^2 =$$

$$\left(-\frac{1}{2}\right)^3 =$$

$$\left(\frac{2}{5}\right)^2 =$$

$$\left(\frac{3}{4}\right)^2 =$$

$$\left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 =$$

$$\left(-\frac{3}{4}\right)^4 =$$

$$\left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 =$$

$$\left(-\frac{3}{4}\right)^2 =$$

$$\left(-\frac{2}{5}\right)^2 =$$

$$\left(\frac{1}{5}\right)^2 =$$

$$\left(\frac{3}{4}\right)^4 =$$

$$\left(-\frac{1}{3}\right)^0 =$$

$$\left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 =$$



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{3}{5}\right)^3 = \left(-\frac{3}{5}\right)^3$$

$$\left(-\frac{1}{2}\right)^2 = \left(-\frac{1}{2}\right)^2$$

$$\left(\frac{2}{5}\right)^4 = \frac{16}{625}$$

$$\left(\frac{1}{5}\right)^2 = \frac{1}{25}$$

$$\left(-\frac{1}{2}\right)^3 = \left(-\frac{1}{8}\right)$$

$$\left(\frac{2}{5}\right)^2 = \frac{4}{25}$$

$$\left(\frac{3}{4}\right)^2 = \frac{9}{16}$$

$$\left(-\frac{3}{5}\right)^2 = \left(-\frac{3}{5}\right)^2$$

$$\left(\frac{1}{6}\right)^2 = \frac{1}{36}$$

$$\left(-\frac{3}{4}\right)^4 = \frac{81}{256}$$

$$\left(-\frac{1}{6}\right)^2 = \left(-\frac{1}{6}\right)^2$$

$$\left(\frac{1}{5}\right)^2 = \frac{1}{5}$$

$$\left(\frac{1}{3}\right)^2 = \frac{1}{9}$$

$$\left(-\frac{3}{4}\right)^2 = \frac{9}{16}$$

$$\left(-\frac{2}{5}\right)^2 = \frac{4}{25}$$

$$\left(\frac{1}{5}\right)^2 = \frac{1}{25}$$

$$\left(\frac{3}{4}\right)^4 = \frac{81}{256}$$

$$\left(-\frac{1}{3}\right)^0 = 1$$

$$\left(-\frac{1}{3}\right)^2 = \left(-\frac{1}{3}\right)^2$$

$$\left(\frac{1}{2}\right)^3 = \frac{1}{8}$$